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10th Class - General Knowledge (kÕ<Ûës¡D $wüj·T |ü]C≤„q+)

1. øÏ+~ yê{Ï̋ À dü¬s’q <ëìì >∑T]Ô+#·+&ç? ( )
(A) IST nH˚~ GMTø£Hêï 5 1/2 >∑+≥\T eTT+<äT ñqï~
 (B) GMT nH˚~ IST ø£Hêï 5 1/2>∑+≥\T eTT+<äT ñqï~.
(C) IST eT]j·TT GMT\T π̌ø düeTj·÷ìï dü÷∫kÕÔsTT.   (D) ô|’e˙ï dü¬s’qy˚.
Indentify the correct one of the following?

(A) IST is ahead of 5 1/2 hours to GMT (B) GMT is ahead of 5 1/2 hours to IST

(C) IST and GMT indicates same time (D) All of the above are correct.

2. Äqø£≥º\T ` Ä<ÛäTìø£ uÛ≤s¡‘· <˚yê\j·÷\T nì |ü*øÏ+<Óes¡T? ( )
(A) eTVü‰‘êà>±+BÛõ (B) »eVü≤sY̋ ≤˝Ÿ HÓÁVüA
(C) _.ÄsY.n+uÒ<äÿsY (D) bı{Ïº lsêeTT\T
Who said, “Dams are the temples of Modern India”?

(A) Mahatma Gandhiji (B) Jawaharlal Nehru

(C) B.R.Ambedkar (D) Pottisreeramulu

3. Á|üdüTÔ‘· uÛ≤s¡‘· Á|ü<Ûëq mìïø£\ ø£MTwüqsY mes¡T? (   )
(A) düT≈£îe÷sY ùdHé (B) z+ Á|üø±XŸ sêe‘Y C) düT˙˝Ÿ ns√sê (D) ô|’ yê¬ses¡÷ ø±<äT
Who is present Chief Election Commissioner of India? ( )
(A) Sukumarsen (B) Om Prakash Rawat

C) Sunil Arora (D) None of the above.

4. 2018 |ü⁄s¡Twüß\ Vü≤ø° Á|ü|ü+#·ø£|t≈£î Ä‹<∏ä́ $T∫Ãq uÛ≤s¡‘·<˚X¯ q>∑s¡+ @~?
(A) &Ûç©¢ (B) uÛÑTeH̊X̄«sY C) eTT+u≤sTT (D) ø√˝Ÿø£‘êÔ
Which Indian city hosted 2018 Men’s Hockey world cup? ( )
(A) Delhi (B) Bhubaneswar (C) Mumbai (D) Kolkata

5. á ÁøÏ+~ yêì˝À »>∑Bwt #·+Á<äuÀdt #˚‘· ø£qT>=qã&çq~ @~?
(A) Á¬øk˛ÿÁ>±|ò” (B) &Ó’qyÓTÆ{Ÿ C) ôdº‘·k˛ÿ|t (D) ôd’øÏ̋ Ÿ
Which of the following was invented by Jagadish Chandra Bose? ( )
(A) Crescograph (B) Dynamile C) Stethoscope (D) Bicycle

6. <ëÁ<ëq>∑sY Vü≤y˚* jÓTTø£ÿ eTTK´ |ü≥ºD+ @$T{Ï?
(A) &ÜeTHé (B) #Û·+&û|òüTsY C) Vü≤y˚* (D) dæ\«kÕ‡
Which is the capital of Dadra and Nagar Haveli? ( )
(A) Daman (B) Chandigarh C) Haveli (D) Silvassa

7. á ÁøÏ+~ yê{Ï̋ À kÂs¡e´edüú≈£î dü+ã+~Û+∫ dü÷s¡T´ì yÓ’|ü⁄ qT+&ç dü¬s’q es¡Tdü Áø£eT+ @~?
(A) uÛÑ÷$T, n+>±s¡≈£î&ÉT (B) es¡DT&ÉT, Ç+Á<äT&ÉT C) ãT<ÛäT&ÉT, X¯óÁ≈£î&ÉT (D) >∑Ts¡T&ÉT, X¯ì
Which of the following is correct order of solar system starting from sun?( )
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(A) Earth, Mars (B) Uranus, Neptune C) Mercury,Venus (D) Jupiter, Saturn

8. C≤„Hé|”sƒY |ü⁄s¡kÕÿs¡+ @ s¡+>∑+˝À Çe«ã&ÉT‘·T+~?
(A) XÊÁd”Ôj·T dü+^‘·+ (B) #·\q∫Á‘·+ C) »s¡ï*»+ (D) kÕVæ≤‘·́ +
Jnanpith award is given for? ( )
(A) Classical Music (B) Cinema C) Journalism (D) Literature

9. $≥$THé A jÓTTø£ÿ s¡kÕj·Tq HêeT+ @$T{Ï?
(A) ø±*‡ô|òsê Ÿ̋ (B) {Àø√ô|òsêHé C) ¬s{ÏHê˝Ÿ (D) ãjÓ÷{ÏHé
What is the chemical name of vitamin A? ( )
(A) Calsciferol (B) Tocopherol C) Retinol (D) Biotin

10. uÛ≤s¡‘·<˚X¯+˝À >∑DÏ‘· ~H√‘·‡e+qT ||ü⁄&ÉT »s¡T|ü⁄≈£î+{≤s¡T? ?
When the mathematics day is celebrated in India? ( )
(A) &çôd+ãsY 22 (B) qe+ãsY 26 C) @Á|æ̋ Ÿ 22 (D) »qe] 26
(A) December 22 (B) November 26 C) April 22 (D) January 26

y˚T<Ûë dü+ã+~Û‘· Á|üX¯ï\T ` (I.Q.)

11. Çe«ã&çq ÁX‚DÏ̋ À ‘·s¡Tyê‹ dü+K´qT >∑T]Ô+#·+&ç. 1,3,7,15, ...........63, 127
Choose the next number of given series 1,3,7,15, ___ 63,127 ? ( )
(A) 31 (B) 32 C) 38 (D) 16

12. 10 |æ\T¢\T 10 s√E\˝À 10 m\Tø£\qT #·+|ü>∑\e⁄.nsTT‘̊ 4 |æ\T¢\T 4 m\Tø£\qT mìï s√E˝À¢ #·+|ü>∑\e⁄?
10 Cats killed 10 Rats in 10 days. But in how many days 4 cats can kill 4 Rats? (   )
(A) 1 days (B) 4 days C) 10 days (D) 2 days

13. ˇø£ u≤\T&ÉT 1 qT+&ç 100 es¡≈£î dü+U´\qT q\¢ã\¢ô|’ sêXÊ&ÉT. nsTT‘˚ Ä u≤\T&ÉT 3 nH˚ n+¬øqT mìïkÕs¡T¢
sêdæ ñ+{≤&ÉT. ?
A boy wrote 1 to 100 numbers on a black board. How many times the boy wrote the

digit 3.   ? ( )
(A) 11 (B) 18 C) 20 (D) 21

14. |ü≥+˝À >∑\ #·‘·Ts¡ÁkÕÔ\ dü+K´ m+‘·?

How many squares are there in the given figure? ( )

(A) 8 (B) 12 C) 14 (D) 15

15. 2018 &çôd+ãsY 25e ‘˚~ eT+>∑fi¯yês¡+ nsTT‘˚ 2019 »qe]˝À @ ‘˚~˝À eT+>∑fi¯yês¡+ e#·TÃqT?
If 2018 December 25 is Tuesday, then in which dates of 2019 January, will be Tuesday?

( )
(A) 29 (B) 22 C) 15 (D) All of the above. ô|’e˙ï

16. 5726489 ˝Àì n+¬ø\qT Äs√Vü≤D Áø£eT+˝À sêùdÔ yê{Ï kÕúHê˝À¢ #·\q+ Ò̋≈£î+&Ü ñ+&˚ n+¬ø\T mìï?
(A) @B˝Òe⁄ (B) ̌ ø£{Ï C) ¬s+&ÉT (D) eT÷&ÉT
If the digits of the number 5726489 are arranged in ascending order, the number of

digits that remain at the same position is ( )
(1) None (2) One (3) Two (4) Three
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17. Çe«ã&çq u§eTà\ <ë«sê? øÏ dü¬s’q düe÷<Ûëq+ >∑T]Ô+#·+&ç?

Identify the Correct choice for? In given figure? ( )

(1) (2) (3) (4)

18. ˇø£ dü+K´≈£î, n<˚ dü+K´qT 13 kÕs¡T¢ ø£*|æ‘˚ 112 edüTÔ+~. nsTTq Ä dü+K´ m+‘·?
If 13 times a number added to itself gives 112, then the number is? ( )
(1) 8 (2) 7 (3) 9 (4) 14

19. nìï C≤´$Trj·T ∫Á‘ê\˝À ñqï dü+K´ @~? ( )
The number that is a in all the geometrical figure is?

(A) 4 (B)5 C) 8 (D) 3

20. AIRTEL nH̊ |ü<ëìï CKTVGN  >± ø√&é #̊j·Tã&ç+~. eT] IDEA nH̊ |ü<ä+ @ s¡ø£+>± ø√&é #̊j·Tã&ÉT‘·T+~?
( )

If AIRTEL is coded as CKTVGN then IDEA is coded as ?

(A) KFGC (B) JEFB C) KEGB (D) JFFC

ENGLISH (10 Marks)

21. Pick out the negative quality from the following. ( )

(A) Stingy (B) Cauticus C) Affable (D) Imaginative

22. Choose the most appropriate one word substitute for the given sentence. ( )

“One who hates women”

(A) Mercenary (B) Monogomy C) Fatalist (D) Misoggnist

23. Find out the plural form number of the word “Species”. ( )

(A) Specie (B) Speaces (C) species (D) 1 & 2

24. Which expression is used in this context.

Oho! so that’s why you’re all in black today. ( )

(A) Surprise (B) Confirmation (C) Hesitation (D) None

25. Find out the incorrect compound Adjective from the following. ( )

(A) Broken-shirt (B) Half -sunk (C) Five-star (D) Cold-blooded

26. I ______ (see) Raju this week. Fill in the blank with right verb form.

(A) Had seen (B) Saw (C) have seen (D) am seeing

27. Fill in the blanks with appropriate articles.  ____ Tajmahal is _____ most beautiful

monument. ( )

(A) a, a (B) An, the C) The, the (D) an, a
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28. Change the following sentence into passive voice. ( )

She is drinking milk.

(A) Milk was being drunk by her. (B) Milk is being drunk by she.

(C) Milk is drinking by her (D) Milk is being drunk by her.

29. Identify the correctly spelt word. ( )

(A) Leaftnant (B) Lieutenant (C) Leiutenant (D) Lietenant

30. Identify the right expression for the sentence. “Can I help you?” ( )

(A) Suggestion (B) Offer (C) request (D) Order.

JeXÊÁdüÔ+ BIOLOGY (10 Marks)

31. øÏ+~ yêì˝À dü¬s’q Áø£eTeTTqT >∑T]Ô+#·+&ç? ( )
(A) Á|ü<ÛäeT <äX¯ →#·\q<äX¯ →n+‘·́  <äX¯ →eT<Ûä́  <äX¯
(B) Á|ü<ÛäeT <äX¯ → eT<Ûä́  <äX¯→#·\q <äX¯ →n+‘·́  <äX¯
C) eT<Ûä´ <äX¯ →n+‘·́  <äX¯ → Á|ü<ÛäeT <äX¯ → #·\q<äX¯
(D) Á|ü<ÛäeT <äX¯ →#·\q<äX¯ →eT<Ûä́  <äX¯ →n+‘·́ <äX¯
Identify the correct sequence of the following. ( )
(A) Prophase→Anaphase →Telophase →Metaphase

(B) Prophase → Metaphase → Anaphase → Telophase

(C) Metaphase →Telophase →Prophase → Anaphase

(D) Prophase →Anaphase → Metaphase → Telophase

32. ‹s√>∑eTq  ô|]kÕº*{Ïø˘ #·\q+ ÁøÏ+~ @ »+‘·Te⁄˝À »s¡T>∑TqT? ( )
(A) |ü⁄* (B) ñ&É‘· C) Äe⁄ (D) |æ*¢
Reverse peristalisis is seen in which animal? ( )
(A) Tiger (B) Squirrel (C) Cow (D) Cat

33. e÷qe⁄ì˝À neX‚wü nej·Te+ ø±ì~ @~? ( )
(A) yÓ\T|ü* #Ó$ (B) #·s¡à+ô|’ yÓ+Á≥Tø£\T C) #=≥q  Áy˚\T (D) nô|+&çø̆‡
 Which of the following is not a vestigial organ in human beings?

(A) Pinna (B) Hair on skin (C) Thumb (D) Appendix

34. IUCN jÓTTø£ÿ eTTK´ $~Û @$T{Ï? ( )
(A) eq´ÁbÕDÏ ÄyêkÕ\qT s¡øÏå+#·T≥ (B) yÓT≥ºkÕ>∑T |ü+≥\ô|’ |ü]XÀ<Ûäq
C) yÓ’s¡dt yê´<ÛäT\ô|’ n<Ûä́ j·Tq+ (D) ˙{Ï kÕ>∑T |ü+≥\ô|’ |ü]XÀ<Ûäq
The Chief function of IUCN is ?

(A) To protect wild life habitats (B) To work on dry land agriculture

(C) To study about diceases (D) To work on wet land agriculture

35. dü]ø±ì »‘· @~? ( )
(A) nÁ&çq*Hé̀ |æ≥÷´≥] Á>∑+~Û (B) f…k º̨d”ºsêHé ` eTTcÕÿ\T
C) ÇqT‡*Hé ̀  ø√¢eT+ (D) ¬áÁk º̨»Hé̀ n+&Éø√X̄+
Which is not a correct pair.

(A) Adrinalin - Pitutary gland (B) Testosteron - testes

(C) Insulin - pancreas (D) Oestrogen - Ovary
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36. s¡ø£Ô+˝Àì e´s¡∆|ü<ësêú\qT m˝≤ >∑T]Ô+#·e#·TÃ? ( )
(A) kÕÿì+>¥ <ë«sê (B) eT÷Á‘· |üØø£å <ë«sê
C) <ÛäsêàMT≥sY ñ|üjÓ÷–+∫ (D) s¡ø£Ô |üØø£å <ë«sê
Waste materials in blood can we identify through ?

(A) Through scanning (B) Through urine test

(C) Through thermometer (D) Through blood test

37. #·s¡à+˝Àì ‘Ó’\Á>∑+<ÛäeTT $dü]®+#˚ |ü<ësêú\T @$? ( )
(A) yÓTÆq+, dæºsê˝Ÿ‡ (B) dæºsê˝Ÿ‡, |æ+&ç |ü<ësêú\T
C) yÓTÆq+, Áø=e⁄« Äe÷¢\T (D) yÓTÆq+, dæºsê˝Ÿ‡, ôV’≤Á&√ø±s¡“Hé\T   Áø=e⁄« Äe÷¢\T.
The sebaceous glands in the skin excreate __________

(A) Waxes, sterols (B) Sterols, Carbohydrates

(C) Wasex, Fatty acids (D) Waxes, sterols, Hydrocarbons & fatty acids.

38. kÕŒ+õ e …̋ ñ+&Ó nej·TeeTT @~? ( )
(A) >∑T+&Ó (B) }|æ]‹‘·TÔ\T C) eT÷Á‘·|æ+&É+ (D) @Bø±<äT
Which organic will be spongy in natured?

(A) Heart (B) Lungs (C) Kidney (D) None

39. &Ü*Œ¤Hé‡ jÓTTø£ÿ XÊ«kÕ˙j·THê\T @$? ( )
(A) }|æ]‹‘·TÔ\T (B) yÓTT|üŒ\T C) #·s¡à+ (D) yêj·TTHêfī+
Respiratory organs in Dolphins are?

(A) Lungs (B) Gills (C) Skin (D) Trachea

40. |üÁ‘·s¡+Á<Ûë\T eT÷düTø=qT≥, $‘·ÔHê\ düTbÕÔedüú @ Vü‰s√àHé e\q ø£\T>∑TqT? ( )
(A) Ç~∏*Hé (B) nuŸôd’dæø˘ ÄeT¢+ C) ÄøÏ‡Hé (D) ôd’{À¬ø’ìHé
Closing of stomata and seed dormancy are caused by?

(A) Ethylene (B) Abscisic Acid (C) Auxin (D) Cytokinin

>∑DÏ‘·+ MATHEMATICS (40 Marks)

41. 9 2 6 3

2019
0.2019

2 5− +
=

×
 nsTTq a+b = ............... ( )

If 9 2 6 3

2019
0.2019

2 5− +
=

×
 then a+b = ...............

(A) 8 (B) 7 (C) 6 (D) 4

42. A B⊂  nsTTq (A-B)

∪

(B-A)  = .............. ( )
If 

A B⊂

 then (A-B)

∪

(B-A) =

(A) 

φ

(B) A (C) B (D)  B-A

43. a and b nqT ¬s+&ÉT dü+K´\T 3:4 ìwüŒ‹Ô̋ À ñqï$. a,b \ ø£.kÕ.>∑T R 60 nsTTq a,b \ >∑.kÕ.uÛ≤.
R ............... ( )
a and b are two numbers in the ratio 3:4, LCM (a,b) = 60 then HCF (a,b) is

(A) 5 (B) 6 (C) 10 (D)12

44.

2

10log

  = 03010 nsTTq 22018 dü+K´˝Àì n+¬ø\ dü+K´ R ................... ( )

The number of digits in the number 22018, If 

2

10log

 = 03010.

(A) 2018 (B) 1214 (C) 608 (D) 607
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45.

sinx a θ=

, 

tany b θ=

 nsTTq 

2 2

2 2

a b

x y
− =

 .................. ( )

If 

sinx a θ=

, 

tany b θ=

 then 

2 2

2 2

a b

x y
− =

..................

(A) 2 (B) 0 (C)  1 (D) 

2

46.

2

logx

x

 = ................... (x>0,x

≠

1) ( )

(A) 2 (B) 4 (C)  1 (D) 

1

2

47. n(A)=115, n(B)=326, n(A-B) = 47 then  (nsTTq) n(A

∪

B) =  ...................

(A) 373 (B) 394 (C)  162 (D) 370

48. Sin5x = cos4x nsTTq Tan6x =  ................. ( )

If Sin5x = cos4x then Tan6x =  ..................

(A) 0 (B) 1 (C)  

1

3

(D)  

3

49. “r” cm yê´kÕs¡ú+ >∑\ ns¡ú eè‘·Ô+˝Àn+‘·]¢œ+#·ã&çq n‹ô|<ä› Á‹uÛÑT» yÓ’XÊ\´+ ..... ( )
The area of the largest triangle that can be inscribed in a semicircle of radius “r” cm is

 ......................

(A) 2 21

2
r m

(B)  2 2
r m(C)  22rm (D)  2 22r m

50. yÓTT<ä{Ï n düVü≤» dü+K´\ dü>∑≥T 1009 nsTTq n =  ......................... ( )

The mean of first n natural numbers is 1009 then n =   .........................

(A) 2020 (B)  2019 (C)  2018 (D)  2017

51. ax2-bx+a= 0 jÓTTø£ÿ ˇø£ eT÷\eTT 3 nsTTq <ëì ¬s+&Ée eT÷\+ ................... ( )

If 3 is a root of ax2-bx+a= 0 then the other root is _____________

(A) 3 (B)  

1

3

(C)  1 (D)  Not found

52. ax2+bx+c=0 jÓTTø£ÿ eT÷˝≤\T düe÷q+ nsTTq 

b

ac

 ................ ( )

If the roots of ax2+bx+c=0 are equal then 

b

ac

= ........................

(A) 

2±

(B)  

4±

(C)  

2 2±

(D)  
1

2
±

53.  ns¡ú>√fi¯+ jÓTTø£ÿ eÁø£‘·\, dü+|üPs¡í ‘·\ yÓ’XÊ˝≤´\ ìwüŒ‹Ô  ............... ( )
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The ratio between C.S.A. and T.S.A. of Hemisphere is  ..........

(A) 3 : 4 (B)   4 : 3 (C)  2 : 3 (D) 3 : 2

54. A = (1,2), P = (7,-4) “P” nqTq~ BC uÛÑT»+ eT<Ûä́  _+<ÛäTe⁄ nsTTq ABC∆  jÓTTø£ÿ >∑Ts¡T‘·«
πø+Á<ä+. ............. ( )

A = (1,2), P = (7,-4) “P” is mid point of BC of 

ABC∆

. The centroid of 

ABC∆

 is =

...........

(A) (4,-1) (B)  

2
3,

3

− 
 
 

(C)  (5,-2) (D) 

10
5,

3

 
 
 

55. (5,`6) eT]j·TT (`1,4) \qT ø£\T|ü⁄ πsU≤K+&Üìï  x `nø£å+ $uÛÑõ+#·T ìwüŒ‹Ô R ....( )

X-Axis divides the Line segment joining the points (5,-6) and (-1,4) in the ratio of

.........................

(A) 3 : 2 (B) 2 : 3 (C)  5 : 4 (D) 1 : 5

56. A=(0,0), B = (

3

,3) nsTTq AB πsKyê\T R...........

A=(0,0), B = (

3

,3). The slope of the line AB is ........... ( )

(A) 3 (B)  

3

(C)  

1

3

(D) 

3 3

57. (0,0), (5,0) eT]j·TT (0,4) osê¸\T>± >∑\ Á‹uÛÑT» yÓ’XÊ\´+................ ( )
Area of Triangle with vertices (0,0), (5,0) and (0,4) is  ......

(A) 20 Sq.ut (B)  10.5 Sq.ut (C)  7.5 Sq.ut (D) 10 Sq.ut

58. A = {x/”x” nqTq~ uÒdæ dü+j·TTø£Ô dü+K´, x<10} nsTTq  n(A) = .............. ( )
If A = {x/”x” is an odd composite number , x<10}  then n(A) =  ..............

(A) 9 (B)  1 (C)  2 (D)  5

59. `4 eT]j·TT 5 X¯SHê´\T >± >∑\ es¡ZãVüQ|ü~ ............. ( )
Quadratic polynomial with the zeros -4 and 5 is  ...............

(A) x2+x+20 (B)  x2-x+20 (C)  x2+x-20 (D)  x2-x-20

60. x3+4x2-5x-2 |òüTq ãVüQ|ü~ jÓTTø£ÿ X¯SHê´\T p, q, r nsTTq 

1 1 1

p q r
+ +

 .............( )

If the zeroes of cubic polynomial x3+4x2-5x-2 are p, q and r then 

1 1 1

p q r
+ +

= .............

(A) 

5

2

−

(B) 

1

4

−

(C)  -5 (D) 

2

5

−

61. cot

θ

 = 

1

3

 nsTTq 

2

2

1 cos

1 cos

θ

θ

−

+

$\Te ...................... ( )

If cotθ  = 

1

3

 then the value of 

2

2

1 cos

1 cos

θ

θ

−

+

 = ...........................

(A) 
3

4
(B)  

4

3

(C)  

3

5

(D)  

1

3
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62.

0 0 0 0os53 . os 37 35 . 55C C ec Tan Tan+

= ............................. ( )

(A) 1 (B)  0 (C)  2 (D)  4

63. cotθ  = 

1

3

 \ eT<Ûä́ >∑‘·+ R .................... ( )

The median of 

12

, 

27

,

75

, 

108

 is = ...........................

(A) 

51

(B) 

48

(C)  

45

(D)  

50

64.

5 8,1, 2, 1, 5 8+ − −

 <ä‘êÔ+X¯+ jÓTTø£ÿ yê´|æÔ R ( )

The range of 

5 8,1,2, 1, 5 8+ − −

 is  =

(A) 2

5

(B)  6+

5

(C)  10 (D)  16

65. ABCD #·‘·Ts¡T“¤»+˝À “O” πø+Á<ä+>± >∑\ eè‘·Ô+ n+‘·]¢œ+∫ã&çq~. AB = 9cm, BC =

8cm, CD = 6cm nsTTq DA qT ø£qT>=qTeTT.  ........ ( )
A Circle centred at “O” is inscribed in the quadrilateral ABCD. If AB = 9cm, BC =

8cm, CD = 6cm then find DA =

(A) 7cm (B)  8cm (C)  10cm (D)  11cm

66. ax+by+c = 0 düs¡fiπ̄sK x`nøå±ìï K+&ç+#·T _+<äTe⁄ ..........................
The line ax+by+c = 0 meets the x-axis at the point  ..................

(A)  

,0
c

a

− 
 
 

(B)  

0,
c

a

− 
 
 

(C) 

,0
b

a

− 
 
 

(D)  

,0
c

b

− 
 
 

67. ABCD  sê+ãdt̋ À uÛÑT»+ AB=5 ôd+.MT, ø£s¡í+ AC = 6 ôd+.MT nsTTq <ëì yÓ’XÊ\´+ R ..............
( )

In ABCD rhombus, side AB=5cm, diagonal AC = 6cm then its area = ...................

(A)   25cm2 (B) 30cm2 (C)  24cm2 (D)  48cm2

68. X¯Sq´ ãVüQ|ü~ jÓTTø£ÿ |ü]e÷D+......................... ( )

Degree of zero polynomial is ........................

(A)   0 (B)  1 (C)  2 (D)  Not defined

69. (2x-3)(5x+4) = 10x2-ax-12, nsTTq a =  ........... ( )
(2x-3)(5x+4) = 10x2-ax-12, then  a =  ...........

(A)    7 (B)  -7 (C)  12 (D)  15

70.

1 1 1
2 2 2a b c+ −

=0  nsTTq (a+b-c)2 jÓTTø£ÿ $\Te ( )
1 1 1

2 2 2a b c+ − =0 then the value of (a+b-c)2 is ...................

(A)   2ab (B)  2bc (C)  4ab (D)   4ac

71. 2x+y-5=0 eT]j·TT 3x-2y -4=0 πsFj·T düMTø£s¡D≤\ »‘· ( )
(A)  K+&Éq πsK\T (B)  düe÷+‘·s¡ πsK\T(C)  @ø°uÛÑ$+#˚ πsK\T (D)  @Bø±<äT
The pairs of lines 2x+y-5=0 and 3x-2y -4=0 are  ...........

(A)  Intersecting lines (B)  Parallel lines (C)  Coincident lines (D)   None
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72. If 1

25

10

ix
u

−
= , 20i if u =∑  eT]j·TT 

100if =∑

 nsTTq 

x

.................... ( )

If 

1

25

10

ix
u

−
=

, 20i if u =∑  and 

100if =∑

 then  

x

....................

(A)    35 (B)  30 (C)  25 (D)   27

73. |òüTq+ jÓTTø£ÿ ø£s¡í+ 

6 3

cm nsTTq |òüTq+ dü+|üPs¡í‘·\ yÓ’XÊ\´+qT ø£qT>=qTeTT. ( )

The diagonal of a cube is 

6 3

cm. Find its total surface area ......................

(A)    144cm2 (B)  216cm2 (C)  648cm2 (D)   324cm2

74. X¯+KTe⁄, dü÷ú|üeTT, >√fi¯eTT\T π̌øuÛÑ÷$T, π̌ø m‘·TÔqT ø£*– ñqï#√ yê{Ï |òüTq |ü]e÷D≤\ ìwüŒ‹Ô
.................... ( )
If a cone, cyclinder, sphere have the same base and same height then the ratio of their volumes is

..............

(A)    

4 : 4 : 5

(B)  

5 : 4 : 4

(C)  1:3:2 (D)  1:2:3

75. ABC Á‹uÛÑT»+˝À DE

�

BC, AD = 2ôd+.MT, BD = 4ôd+.MT nsTTq DE : BC............................

ABC is a triangle with DE

�

BC. If AD = 2cm, BD = 4cm then find the value of

DE : BC............................

(A)   1:2 (B)  2:3 (C)  1:3 (D)  3:1

76.

ABC DEF∆ ∆∼

, ar(

DEF∆

)= 243ôd+.MT2, ar (

ABC∆

)= 108ôd+.MT2 BC = 6 ôd+.MT nsTTq
EFqT ø£qT>=qTeTT. ( )

ABC DEF∆ ∆∼
. If ar(

DEF∆
) = 243cm2, ar (

ABC∆
) = 108cm2 and BC = 6cm then find EF.

(A)    9 cm (B)  4 cm (C)  12 cm (D)  15 cm

77. ˇø£ eè‘·Ô+ jÓTTø£ÿ ¬s+ñ&É yê´kÕsêú\ eT<Ûä́ ø√D+ 1250 nsTTq Ä yê´kÕsêú\ ∫es¡ ^∫q eè‘·Ô düŒs¡Ù
πsK\ eT<Ûä́  ø√D+ m+‘·? ( )
If the angle between two raii of a circle is 1250 then find the angle between the tangents at the end

of the radii.

(A)  650 (B)  550 (C)  450 (D)  2350

78. ˇø£ düe÷+‘·s¡ #·‘·Ts¡T“¤»+ jÓTTø£ÿ nìï uÛÑTC≤\T eè‘êÔìï ‘êøÏq≥¢sTT‘˚ n~ ˇø£ .......( )
(A)  düeT\+ã #·‘·Ts¡T“¤»+ (B)  düeT#·‘·Ts¡T“¤»+
(C)  Bs¡È#·‘·Ts¡Ádü+ (D)  @Bø±<äT
If all the sides of a parallelogram touch a circle then that parallelogram is a .................................

(A)  Trapezium (B) rhombus (C)  Rectangle (D) None

79. ax+by=c, px+qy = r »‘·≈£î @¬ø’ø£ kÕ<Ûäq ñqï#√ .............. ( )
If ax+by=c and px+qy = r have unique solution then ...........

(A)  

a p

b q
=

(B) aq 

≠

bp (C)  ab=pq (D)  

a
bp

q
=

80. 2x+3y=6, 2x+3y=9 πsFj·T düMTø£s¡D≤\ »‘·≈£î kÕ<Ûäq\ dü+K´ R  .............. ( )
The number of solutions of pair of linear equations 2x+3y=6 and 2x+3y=9 is ...............

(A)  1 (B)  Many (C)  0 (D) None
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uÛÖ‹ø£ s¡kÕj·Tq XÊÁdüÔ+ PHYSICAL SCIENCES (10 Marks)

81.

( ) ( ) ( ) 2( )2 2s s s gPbO C Pb CO+ → +

 düMTø£s¡DeTT qqTdü]+∫ øÏ+~ yê{Ï̋ À dü¬s’q~ @~?
( )

(A)  ø±s¡“Hé ø£åj·Tø£s¡D #Ó+<äT‘·T+~. (B)  …̋&é ø£åj·Tø£s¡D+ #Ó+<äT‘·T+~
(C)  …̋&é Ä¬ø’‡&é ø£åj·Tø£s¡D #Ó+<äT‘·T+~. (D) ø±s¡“Hé &Ó’ Ä¬ø’‡&é Äø°‡ø£s¡D #Ó+<äTqT

( ) ( ) ( ) 2( )2 2s s s gPbO C Pb CO+ → +  From the equation, find the correct one?

(A)  Carbon reduces (B)  Lead reduces

(C)  Lead Oxide reduces (D) Carbondioxide oxidises

82. H˚qT ‘êCŸeTVü≤˝Ÿ eTT+<äT ì\TÃì ñHêïqT. <ëì |üP]Ô Á|ü‹_+ã+ #·÷&Ée …̋qqï Hê≈£î ø±e\dæq
ø£≥ø£+ @~? ( )
(A)  |ü⁄{≤ø±s¡  (B)  ≈£î+uÛ≤ø±s¡ (C)  düeT‘·\ (D) düeT‘·\ |ü⁄{≤ø±s¡
Which lens should be used by us to observe a complete image of Tajmahal, while we

are standing infront of it?

(A)  Concave (B)  Convex (C)  Planar (D) Plano Concave

83. Á|üø£ÿ |ü≥+˝Àì ìs√<Ûë\ |òü*‘· ìs√<Ûä+ m+‘·? ( )

Find the resultant resistance of given diagram?

(A)  0.7 Ω (B)  10

Ω

(C) 1.95

Ω

(D) 13

Ω

84. á ÁøÏ+~ yêì˝À #ê˝Àÿ»Hé ≈£î≥T+ã+q≈£î #Ó+<äì eT÷\ø£+ @~?
(A)  dü̋ Œ¤sY (B)  bı˝§ìj·T+ (C)  _düà‘Y (D) ôd©ìj·T+
Which of the following element does not belong to “Chalcogen group” ( )
(A)  Sulphur (B)  Polonium (C)  Bismuth (D) Selenium

85. ˇø£ |üs¡e÷DTe⁄ qT+&ç nj·÷Hé @s¡Œ&ÉT≥˝À Á|üuÛ≤$‘·+ #˚j·Tì n+X¯+ @~? ( )

(A)  |üs¡e÷DT |ü]e÷D+ (B)  m\Áø±ºHé $Hê´dü+
(C)  ãTTD $<äT´<ë‘·àø£‘· (D) nj·T˙ø£s¡D X¯ø£à+
Which of the following factor that does not effect the formation of an ion from an

atom?

(A) Atomic size (B)  Electron configuration

(C)  Electro negativites (D) Ionization potential

86. ≈£î+uÛÑø±s¡ Hê_Û ~X̄˝À Á|üj·÷DÏdü÷Ô <äs¡ŒD+ô|’ |ü&çq ø±+‹øÏs¡D+  |üsêes¡Ôq+ #Ó+<ëø£.............
(A) Á|ü<ÛëHêøå±ìøÏ düe÷+‘·s¡+>± yÓfi¯ó‘·T+~ (B)  n<˚ ~X¯̋ À yÓqTø£≈£î yÓfi¯ó‘·T+~.
(C)  Hê_Û >∑T+&Ü yÓfi¯ó‘·T+~. (D) eÁø£‘ê πø+Á<ä+ >∑T+&Ü yÓfi¯ó‘·T+~.
If the incident light rays are travelling towards the focal point of convex mirror, then

the reflected rays travelles.................. ( )

(A) Parallel tothe principal axis (B)  Retraces in the same incident path
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(C)  Passes through the focus (D) Passes through the centre of curvature

87. 10 #·T≥T¢ >∑\ r>∑#·T≥º 01. f…kÕ¢ nj·TkÕÿ+‘· πøåÁ‘·+˝À 1MT2 yÓ’XÊ\´+˝À ‘·\eTT jÓTTø£ÿ
\+u≤ìøÏ 1 ì$Twü+ bÕ≥T n_ÛyêVü≤+˝À e÷s¡TŒ »]–+~. nsTTq Ä r>∑#·T≥º̋ À ñ‘·Œ‹Ô
nj˚T´ emf(v) m+‘·? ( )

(A) 1.32 (B)  0.002 (C)  0.166 (D) None

If a coil of 100 turns and 1 Sq.m area of cross section had placed perpendicularly to the

direction of magnetic field of 0.1 tesla. Then find the induced emf(v) in the coil?

(A) 1.32 (B)  0.002 (C)  0.166 (D) None

88. <äèX¯́ ø±+‹ jÓTTø£ÿ ‘·s¡+>∑ <ÛÓ’s¡È́ + (A0) ( )

The Wave lenth of visible light is (A0)

(A) 1000A0 - 6000A0 (B)  8000A0 - 16000A0

(C) 4000A0 - 7500A0 (D)  16000A0 - 25000A0

89. ˙{Ï uÛ≤w”ŒuÛÑeq >∑Tb Ǫ̂wüí+ $\Te.......................................... ( )
.Latent heat of vaporizaiton of water is .........................................

(A) 80 cal/gm (B) 180 cal/gm (C) 480 cal/gm (D)  540 cal/gm

90. Á|üe#·q+ 1: Äs√>∑́  e+‘·Tì <äèwæºø√dü+ düTe÷s¡T>± 900 >± ñ+≥T+~. ( )
Á|üe#·q+ 2: ø£≥ø£ kÕe÷sêú́ ìøÏ Á|üe÷D+ &Éj·÷|üºsY
Statement 1: The angle of vision for a healthy human being is 900

Statement 2: The unit of lens power is dioptre ( )

(A) Statement 1 & 2 are true (B)  Statement 1 true and 2 False

(C) Statement 1 false and 2 True (D) Statement 1 & 2 are false.

kÕ+|òæTø£ XÊÁdüÔ+ SOCIAL  (20 Marks)

91. m≈£îÿe dæ+<ÛäTqB |ü]yêVü≤ø£ ÁbÕ+‘·+ ñqï <˚X¯+ @~? ( )
(A) Ç+&çj·÷ (B)  bÕøÏkÕúHé (C)  Ä|òüÈìkÕúHé (D) #Ó’Hê
Most of the Indus basin is located with which country ?

(A) India (B)  Pakistan (C)  Afghanisthan (D) China

92. e÷qe n_Ûeè~∆ ìy˚~ø£qT mes¡T $&ÉT<ä\ #˚kÕÔs¡T? ( )
Human developemnt report is published by __________

(A) UNO (B)  UNICEF (C)  UNDP (D) None

93. >∑qT\T ÁøÏ+~ @ s¡+>∑eTTq≈£î dü+ã+~Û+∫q$. ( )
(A) ÁbÕ<∏ä$Tø£ (B)  ~«rj·T (C)  ùdyê (D) ne´ed”úø£è‘· s¡+>∑+
Mining cones under this sector?

(A) Primary (B)  Secondary (C)  Service (D) Unorganised

94. ÁøÏ+~ yêì˝À yê‘êes¡D+ eT]j·TT o‘√wüídæú‹øÏ düã+~Û+#·ì n+X¯eTT @~? ( )
(A) ñc į́Á>∑‘· (B)  HÓ’dü]Zø£ dü«s¡÷|ü+ (C)  >±\T\T (D) ÄÁs¡ú‘·
Which of these is not an element of weather and climate?

(A) Temperature (B)  Relief Feature (C)  Wind (D) Humidity
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95. Væ≤yê] ãC≤s¡T @ sêÁwüº+˝À ø£\<äT? ( )
(A) eTVü‰sêÁwüº (B)  ø£sêí≥ø£ (C)  nkÕ‡+ (D) ns¡TD≤#·̋ ŸÁ|ü<˚XŸ
Hiware bazar is in which state?

(A) Maharastra (B)  Karnataka (C)  Assam (D) Arunachal Pradesh

96. »qkÕ+Á<ä‘· jÓTTø£ÿ ns¡∆+ ( )
(A) »HêuÛ≤ ô|s¡T>∑T<ä\ (B)  yÓTT‘·Ô+ »qdü+K´
(C)  ‘·≈£îÿe »qdü+K´ (D) ˇø£j·T÷ì{Ÿ ÁbÕ+‘·+˝À »q dü+K´
Population density means _________________

(A) Population growth (B)  Total Population

(C)  Less Population (D) No. of persons per unit area

97. Ç+>±¢+&ÉT˝À eTVæ≤fi¯\T z≥T Vü≤≈£îÿ bı+~q dü+ˆˆ @~? ( )
In which year the British women got their voting right?

(A) 1928 (B)  1917 (C)  1918 (D) 1927

98. »bÕHé bÕs¡¢yÓT+{Ÿ jÓTTø£ÿ ù|s¡T @$T{Ï? ( )
(A) ø±+Á¬>dt (B)  &Ó’{Ÿ (C)  &É÷´e÷ (D) bÕs¡¢yÓT+{Ÿ
What is the name of Japan Parliament?

(A) Congress (B)  Diet (C)  Duma (D) Parliament

99. uÛ≤s¡‘· sêC≤´+>∑ |ü]wü‘Y̋ Àì eTVæ≤˝≤ düuÛÑT´\ dü+K´ m+‘·? ( )
How many women members are in Indian Constituent Assembly?

(A) 9 (B) 6 (C)  35 (D) 93
100. @ ìã+<Ûäq Á|üø±s¡+ »eTTàø±oàsY sêÁwüº+q≈£î Á|ü‘˚́ ø£ Á|ü‹|ü‹Ô Çe«ã&çq~? ( )

(A) Ä]ºø£̋ Ÿ 244 (B)  n]ºø£̋ Ÿ 266 (C)  Ä]ºø£̋ Ÿ 342 (D) n]ºø£̋ Ÿ 370
Under which article Jammu & Kashmir state gets special state status?

(A) Article 244 (B)  Article 266 (C)  Article 342 (D) Article 370

Best of Luck


